


17



17






12 2 0 0
2

2

s S T R

41 2 1 1
1 2

1
H15 , 3
22 1 1
1 1




(1)

-
|
days
2 Ic 5000 3,000 mH17.7.16 H17.8.10
c I IC c Ic H17.817 H17.1031
Ic Ic
IC Ic Ic
-
3 4 - mH17.6.27 H17.8.31
-
IC
Ic - 9 5
4 IC mH17627 H17.831
Ic - 50
ic ) ETC
-
- 20 6
5 Ic Ic 16 ETCl6 - mH17.61 H17.9.1
2000 24:00 400 600 30

24.00

400~ 50




(1)

-
-
ICJCT - 30%
Ic ICJCT 750 530
Ic Ic, 500 350
Jct IC mH16.10.15 H17.9.25
Ic mH16
Jct -
7 - 22h 6h
- 20%  Oh 5h mH16.10.14
10%  22h 24h 5h 6h
20% 750 600
10% 750 680 mH17.429 H17.925
16
( ) 1
||
- 150
1600 (350 +500 +750 ) 1450
- ETC
-
8 - mH1821 H18.2.28
|
850 425
-
9 mH17.7.23 H1794
-
- 300
43 - ETC
10 . - mH17.1128 H17.12.28
200 100 -

400 200




H16 4DAYs 6
H17 4DAYs
H16
H17
H15
H16
H17 ETC 9.00 17:00
H16 22:00 6:00
H17 20:00 0:00 4:.00 6:00
0:00 4:.00
H16
H17 H16
16 150
H16 2
H17
H16 ETC 500 1000
4
H17 150 300
ETC
17 H16 ETC 200
H17 ETC 100 H16




(2)

17

1 IC - mH17.81 H17.831
Ic 2050 1050 H17.1220 H18.120
16 - ETC
6 16 - 6:00 20:00 mH17.721 H17.831
0:00 6:00 20:00 2400 -
600 20:00 -
- ETC
1 - 6:00 22:00 mH18130 H18.2.28
400 200 -
550 300
- ETC
" = 600 9:00 1700 2000 w1821 H1833
-

410

285




ETC

50

50

17

50

9:00 17:00 50

20:00 0:00 4:00 6:00 30
0:00 4:00 50

30
0:00 500 20
22:00 0:00 5:00 6:00
150

10

300

6:00 22:00 50

6:00 9:00 17:00 20:00 30

4

6:00 22:00




H16

H17

T

IC IC
L=49.5km)

H17
( IC IC
L=66.7km)

H16

il

IC IC

L=17.2km




IC_OD 1.6 3.3

2 1951 - 3,958

3,000 000 000 000
14 2387
2000 |g s0sL-3 2220 2,000 1,65V7 2.000 2,000
15 1,349
I( : 1,000 1,000 1000 | 878 ﬂ 1000 35 8939 1
) 183
o 21 ‘ 36 o 27 ‘ 53 o 16 ‘ 33 o |2 19 ‘ P
2,000 000 3,00 3 000 3,000
2,000 2,000 2,000 145 45 2000 2 000
I C 1.000 14 g 1.000 1.4 s04 1,000 3.2 755 I C 1.6 715
e T s 2 o fuk? i, oo
o 0 o (i
T ‘ o 1 ‘ I o
3,000 3,000 000
2,000 2,000
2 000
Lom0 13 10 16
- 265 " 31 1,000
IC o |E— T 6 o | 2By | 25 217
| IC °
3,000
2,000
( 1,000
I 25618 374
15, 000 o = T =

10,222

10,000 1.6 IC
6,264

+3,958

a5 3.3 1,183

© L
| ——T] I

° +825 ‘ 5,000 5,000

4,000 4,000

3,000 3,000

2,000 2,000

1,000 1,000

0 0

- 6 1 6 24
- 6 27 8 31
7/26 8/12 19




H17 6 20 24
H17 7 19 22 8 22 26

20km/h 10km/h

%

1000
o
00 | o= 78
800
70
&0
500
a0
30
20
100
1000
o
%0
- 78

78

6
78

1000
6
0 78
800
70
600
500
400
a0
20
100
1000
6
900 8
a0
70
&0
500
400
0
20
100

12



® IC IC

17 6 27 17 8 31 2

ETC

H17 ( 1.C 1.C L=30.5km |

Ic h ic Ic i Ic Ic
= IC Lo Ic £ Ic : < Ic Ic
« /=15 Tl L=12.2kn Tl yle L= : 1= « Ls7.2kn ol
II/ ;: <l 1!1_\ E 1.-.--.\_“. - .\I, ‘I'l"_‘"__‘-\ :; = N
BT : ;  WEkT ) RO b | 3 ]
i s : : J 7
J@r,,f-k O] RERET 3 . ~N
v \ | ;._‘_‘---....—..- -_|_._ - | I|
___,_,—-—'—'_".: I'-__ l; lk'\ | .;'- E _LFE L s -Ajh-‘:tﬂ "x\ (-:_“' -'I
-‘\ " ) y : )] i - Tt : /
87 6 : o V7
r .f}“ﬂ'l }3’ i b} I
-_,..-—u---' -—

I\ o N N 2 N

13




ETC 9-17

/8
1,000
! 800 -
: 600 E.
| l’ggg [ > 388 | 134 %
i 19 600 | o N
~ 400
| 2,000 200 |
1432 :
| 1,500 B 11203 | 0
: : 1,000 %
| 1,000 B | 800 |
SN 500 |- : 600 |- 544 630
' ' N 400
| 0 ! 200 -
| i 0 1,000
_ _ 800 1,000
L e e 1 600 800
< 200 soo
200 S 400 208
o . ™| mm [
0
-
1,000
800
6/13 6/19 9-17 ETC L Lo
_ L 115 138
7/11 7/13 8/22 8/26 9-17 ETC 208 — ==
7




117 /

17

H17

H17.6/16
H17.7/7

8

30 45km/h

6

35km/h

245

35km/h

15



IC

16

IC

ETC

17

17
17 6 1 () 9 1 ()
20 6 22 ¢
ETC
( IC IC )
8 (8 0 4§
50 0 4 ) 50

: LK = ORME (&) TO
BHEFIC ._ |OREO(CRD. F5

DOHRELEDFET

i

16



Al

OH16 B H17
50
40
30
20
10
0
-10
-20
H16 50% | 50% | 50% | 50% | 50% | 50% | 50% | 50%
H17 30% | 30% | 30% | 30% | 50% | 50% | 50% | 50% | 30% | 30%
T| T (11 114

17



800
700
600
500
400
300
200
100

18



H17

fl
20 6 20 6 20 6 20 20
5 |5 2 5 5

\\

PA u
2400 3,000 3,600 4,950 8.250
1,860 2320 2780 3,830 6,380
1,390 1,920 3.190
20 6 2 Lot 150 1,390 1,910 3.190
2= (0 174 239 399

117 145
6 20 1,490 1,860 2230 3,070 1521718
370 460 550 760 .

47 58 69 95

ETC

ETC

Hl7z 721 H17.831

ETC

6:00 20:00

0:00 6:00 20:00 24:00-50

6:00

20:00- 20

18 3 31

1,000

8,000

19



=@

ETC

ETC
89 57

ETC

30000

25000

20000

15000

10000

5000

1,09

ETC
39 57
************************* R,
(17,849)
ETC
””””””””””””” (8,718) cmomo
ETC
777777777 (10,851) -
ETC
””””” ETC T (11,359) T
(6,998)
H16 H17
7/21 8/31 7/21 8/31

20



ETC

=[C

47 37
12 27 12 37
32 37%
5 2 5 1 5
(O 6 ) 6 (6 20 ) 14 (20 24 ) 4 I 10
/6 /14 1
/4
30000 . /10
2 (+12 oo
s 37 (425 ) 2500 ¢G12 ) s a7 (27 ) . 43 (+26 )
' 13284 wmmmmmd» 16735 o 4,000
884 w— 1211 20000 | 145] m— 9132 ! 2335 mmmms)» 3343
3,000 41 3,000 43 |
15,000 I 3000 i 1,387
H17 2000 - +19 7,331 2000 52 S '
28 10000 — 520 L - : 2 0 T 2000 — gy
+11
y 16
1,000 | 467 5000 | 8 1000 - 606 | | 43
364 3 8,074 +12 B ! 43 . 1000 1956 [
520 — | 7w 845 +32 1212 136 | *34
0 +37 0 0 ) | o ‘
7/1 20 7/21 8/31 7120 7721 8/31 7/1 20 7/21 8/31 | 771 20 7721 8/31
|
/6 /14 "
30,000 " ! 0
‘ . 5000
12 25000 | 14 20 1 17
4,000 ‘ —— .
876 m——) Q84 oo | 13204 15084 4,000 1489 1781 | 4,000 2366 2765
3,000 22 3,000 = 3,00
H16 5000 | I 2
2,000 26 . L
. 10,000 7521 . 9,148 2,000 / I 2,000 1,303 1,703
1,000 —> | — 1,090 . 9 |
ETC 525 SI3 500 5,683 5936 R | 11> | Ho 1062
o ‘ ETA 0 : ‘ , 621 ‘ 691 . 973 ‘ ‘
ETC 71 20 /21 8/31 7120 /21 8/31 1 20 . 1 m 2 21 8/31
|




ETC

D E
ETC
o™ &
ETC 745 T130%125
(N=22722) (16,938) $2,949)9(2.835)
| |
0% 206 406 60%  80%  100%
ETC
A 25.3 53.8 21.0
(N=978) 247) (526) (205)
0t 20% 40% 60% 80% 100%
A IC
ETC
| |
E 84.1 5.410.1
(N=11073 (9,309) 643) (1,11
n i
0% 20% 40% 60% 80% 100% ﬁ q
E ( IC - .
IC IC) p '
\‘—'\-. \\ .

13
ETC
22,722
- A E
O
O
ETC
B 215 44.2 343
N=548) | (118) 242) (188)
) 204 404 604 80%  100%
. B IC IC
10 ETC
| |
¢ 442 343 215
N=1388) (614) (476) (298)
| |
0l 206 40% 60%  80%  100%
C ( IC IC)
ETC
3 76.1 122117
/ (N=8735) (6,650) 1,062)(1,023)
' |
0% 20 40% 60%  80% 1004
D ( IC IC) 22



\
(N=761) — 110 279
ETC ETC
(N=360) (N=350) 16.4 333
[
0% 0% 20% 40% 60% 80% 100%
‘EI o o o = \
[ [
(N=16) — | e .
100 B ‘ ‘ ‘
N (N8) 25.0 ‘ | 125 | - 62.5
60 545 53-8
55 155 538 (N=16) 125 | 12.‘5 | ‘ ‘75.0
0 308 0% 20% 40% 60% 80% 100%
20 54 135 18454 o o o o \
7.7 45 7.7 I—. 9.1]
0 Il s e IF. H =8

(N=16) 63| 875 .

\ \ \ \
B 125 87.5
B N2 =0 125 | | | |
B NI 25.0 6.3 68.8
(N=16) ‘ | | | | |
( ) 0% 20% 40% 60% 80% 100%
o o




